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Time . Three Hours] [Maximum Marks : 75

Note: Attempt questions from all Sections as per

instructions.

Section-A
(Very Short Answer Questions)
Answer all the five questions. Each question carries
3 marks. Very short answer is required not exceeding

75 words. Ix5=]5

. Who is known as the father of modern digital
programmable computers and why ?
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Name and explain the various output devices.

Differentiate among RAM, ROM. PROM and
EPROM.

Hardware and Software of a computer system are

like two sides of a coin. Discuss.

Write the various functions performed normally by

an operating system,

Section-B
(Short Answer Questions)
Answer any fwo questions out of the following three
questions. Each question carries 7" marks. Short

answer 1s required not exceeding 200 words. 7%x2=15
What are the two main components of CPU of a
computer system ? List the main functions of each

components.
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What is an OMR device 7 Explain the techniques
used by it for recognition of marks. Write some

applications that make usc of it.

What is Intemnet ? Name the four basic services
provided by the internet. How these services help

internet users.

Section-C
(Detailed Answer Questions)
Answer any fhree questions out of the following five
questions. Each question carries 15 marks. Answer is
required in detail. 15%3=45
Discuss computer organization with suitable

diagram. Also explain function between the units.

Differentiate between an input and output device,
Can a device be used as both an input and output
device ? If no, explain, why ? If yes, give an example

of such a device.
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What do you understand by digital signature ? How
are digital signatures used while sending a document

across network ?

What do you mean by high-level languages 7 Wnite
their characteristics. Why high-level languages are

casier to learn and use ?

What is an Internet Search Engine ? What are the
three elements of an internet search engine 7 Explain

the role of cach clement.
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[Maximum Marks : 75

Note: Attempt questions from all Sections as per

[~

instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required not
exceeding 75 words. 3x5=15

What is prime cost ?

Name the different methods of absorption of
factory overheads.
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What is cost of goods sold ?

Distinguish between marginal cost and variable

cost.
What do you mean by ABC analysis ?

Section-B
(Short Answer Questions)
Attempt any rweo questions out of the following
three questions. Each question carries 7% marks.
Short answer is required not exceeding 200 words,
72x2=15

Write a note on classification of ¢ost.
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What are LIFO and FIFO methods in materials

accounting ? (

Calculate the total camings of a worker under

Halsey Bonus Plan. (Bonus is 50%) :

Standard time — 25 hours
Actual time — 20 hours
Wage rate ~— T 15 per hour
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Section-C
(Detailed Answer Questions)
Attempt any three questions out of the following
five questions. Each question carrics |5 marks.

Answer 1s required in detatl. 15%3-45

What is an incentive plan for wage payment ?
Discuss its importance. Distinguish between
Halscy and Rowan system of wage payment.

»
Distinguish between a cost sheet and statement of
cost. How a cost shect helps in finding out tender

price ? Give a specimen of cost sheet. -

Define Cost Accounting. Discuss its significance
to the management. How does it differ from

Financial Accounting ?

The following figures have been taken from the
Costing Department of Hind Bicycles Ltd. for the
year ending on 315t Dec., 2016

L4
Stock of finished goods on 01.01.2016 6,000
Stock of raw materials on 01.01.2016 40,000
Stock of finished goods on 31.12.2016 2,000

https://www.ccsustudy.com
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Stock of raw materials on 31.12.2016 4.000
Materials purchased 72.000
Direct wages 24.000

Factorv overheads

Sales of finished goods

44,000
216,000
The number of bicycles produced during the year
was 500.

Prepare a statement showing the total cost and

profit camed during the year.

A firm purchased a plant to manufacture a new

product, the cost data for which is given below :

Estimated annual sales 24,000 units
Estimated costs :
Materials T 4 per unit

Direct labour T 0.60 per unit
¥ 24,000 p. a.
¥ 28,800 p. a.

15% on sales

Factory overheads
Admimstrative overheads
Selling overheads
Calculate the sclling price, if profit per unit is

¥ 1.02 and prepare the cost sheet of the product.
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Note: Attempt questions from all Sections as per
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instructions.

Section-A
(Very Short Answer Questions)
Answer all the five questions. Each question carries
3 marks. Very short answer is required not exceeding

75 words. 3x5=15

I. Describe the traits found in successful entrepreneurs.

https://www.ccsustudy.com
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EDP means only training.
Write steps in starting a small industry.
What is intraprencurship ? (
Role of entreprencurship in Indian Economy.
Section-B
(Short Answer Questions)
Answer any fwo questions out of the following three

questions. Each question carries 7' marks. Short

answer is required not exceeding 200 words, 7,215

wod Apmsnsad- mmm// sdny

Describe the vanious types of plant layout.

What are EDPs ? Explain the problems of EDPs in

India.

Discuss the different methods for solving
transportation problem and state two arcas of

application for each of them.
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Section-C
(Detailed Answer Questions)
Answer any three questions out of the following five
questions. Each question carries 15 marks. Answer is

required in detail. 15=3=45

-
-

The following arc given factory to warchouses
transpotation costs, quantities available at cach
factory and quantitics demanded at each warchouse :

Warehouse

A B C D
F, 10 22 10 20 8

Factory Available at Factory

F, 15 20 12 8 13

wod ApmIsnsad mmm//sdny

F, 20 12 10 15 I

Demanded 7 10 6 9 32

—

at warchouse

Determine the optimum transportation plan,

10. Entrepreneur is not the same as managers. Explain

the difference between these two persons.
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Name the different forms of ownership organization.
Explain their merits, limitations and suitability.
What are incentives and subsidies ? Name the

different subsidics available to small scale industrics,

Write explanatory notes on the following :
(a) Environmental analysis
(b)  Trait theory of entrepreneurship

(c)  Sociocultural theory of entreprencurship.
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Note : Attempt questions from all Sections as per

instructions.

Section-A
(Very Short Answer Questions)
Answer all the five questions. Each question carries
3 marks. Very short answer is required not exceeding

75 words. Ix5=15

1. Discuss the provisions of deduction U/S 80 D.
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Write short note on "Deemed Asscssee”.

What i1s the difference between "Business" and

"Profession” ?

Write any three exempted incomes from tax.

What arc the depreciation rates applicable on

building ?

Section-B
(Short Answer Questions)
Answer any rwo questions out of the following three
questions. Each question carries 7% marks. Short (

answer 1s required not exceeding 200 words. 7V:%2=15

What do you mean by 'Capital Gain' ? DifTerentiate
between "Long-term Capital Gain" and "Short-term

Capital Gain".
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Discuss the provisions of deductions U/S 80C and

80G:

What do you mecan by "Income” ?7 Also write the

different heads of income.

» Section-C
(Detailed Answer Questions)
Answer any three questions out of the following five

questions. Each question carries 15 marks. Answer 1s

required in detail. 15%3=45"

https:/fwww.cesustudy.com
What are "Perquisites’ 7 State the various perquisites
which can be provided to an cmployce. Also

differentiate 'Perquisites’ with "Allowance’.

What do you understand by “sct-off of losses™ ?
Discuss the provisions of carry forward and set-off of

losses.
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Writc short notes on the following :
(i) Residential status
(i1) Income from other sources

(11) Annual value,

Differentiate the following :
(1)  Tax Planning and Tax Avoidance
(ii) Tax Avoidance and Tax Evasion

(1i1) Tax Planning and Tax Management,

What do you understand by "Agricultural income” 7
Also explain the various kinds of agricultural income

in detail,
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-

Note : Attempt questions from all Sections as per

instructions.

Section-A
(Very Short Answer Questions)
Answer all the five questions. Each question carries
3 marks. Very short answer is required not exceeding

75 words. 3Ix5=15

1. Who is young person under Factories Act ?
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Explain weekly holidays.

Give full form of 'STRIKE'.

Who is Permanent Partial Disable ?

-

When will an employer not be liable for

compensation ?

Section-B
(Short Answer Questions)

Answer any two questions out of the following three

wod Apmsnsad- mmm// sdny

questions. Each question carrics 7% marks. Short

answer is required not exceeding 200 words. 7V:x2=15

Explain the provisions of working hours of Adult

under Factories Act, 1948.

Discuss the provisions regarding the appointment of

YOUng persons.
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What benefits does an insured person get under

Employees’ State Insurance Act, 1948 ?

Section-C
(Detailed Answer Questions)
Ans;uvcr any three questions out of the following five
questions. Each question carnies 15 marks. Answer 1s

required in detail. 15%3=45

Do you think the given are workers on not-office
clerk, voluntary worker and a person who cleans

plates in a hotel ? Descnibe in detail.

Define the following terms under the Industrial
Disputes Act, 1947.:

(a) Wages

(b) Average Pay

(c) Award.

Write a note on defenses available to employers from
payment of compensation under Workmen's

Compensation Act.

https;/f'www.ccsustudy.com
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12. Give the provisions of Employees' State Insurance
Act in respect of the following :
(a) Appeal
(b) Penalties

(c) Prosecutions.

——
et

What is Provident Fund ? Describe in detail

regarding Employee's Provident Fund Act, 1952,

-
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Note : Attempt questions from all Sections as per

instructions.

Section-A
(Very Short Answer Questions)
Answer all the five questions. Each question carries
3 marks. Very short answer is required not exceeding

75 words. 3Ix5=15

1. Who is young person under Factories Act ?
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Explain weekly holidays.

Give full form of 'STRIKE'.

Who is Permanent Partial Disable ?

-

When will an employer not be liable for

compensation ?

Section-B
(Short Answer Questions)

Answer any two questions out of the following three

wod Apmsnsad- mmm// sdny

questions. Each question carrics 7% marks. Short

answer is required not exceeding 200 words. 7V:x2=15

Explain the provisions of working hours of Adult

under Factories Act, 1948.

Discuss the provisions regarding the appointment of

YOUng persons.
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What benefits does an insured person get under

Employees’ State Insurance Act, 1948 ?

Section-C
(Detailed Answer Questions)
Ans;uvcr any three questions out of the following five
questions. Each question carnies 15 marks. Answer 1s

required in detail. 15%3=45

Do you think the given are workers on not-office
clerk, voluntary worker and a person who cleans

plates in a hotel ? Descnibe in detail.

Define the following terms under the Industrial
Disputes Act, 1947.:

(a) Wages

(b) Average Pay

(c) Award.

Write a note on defenses available to employers from
payment of compensation under Workmen's

Compensation Act.
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12. Give the provisions of Employees' State Insurance
Act in respect of the following :
(a) Appeal
(b) Penalties

(c) Prosecutions.

——
et

What is Provident Fund ? Describe in detail

regarding Employee's Provident Fund Act, 1952,

-
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B. B. A. Examination, Dec. 2018
Managerial Economics
(BBA-502)
(New)

{Maximum Marks : 75

instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer 1s required not
exceeding 75 words. Ix5=15

Define law of demand.

Explain elastic demand.

https://www.ccsustudy.com
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Explain semi-variable cost.

Explain ‘cost-push' and 'demand-pull’ inflation.

Describe main features of Oligopoly.

Section-B
(Short Answer Questions)

Attempt any rwo questions out of the following
three questions. Each question carries 7' marks.

Short answer is required not exceeding 200 words.
TVix2=15

Explain the principle of time perspective,

Explain income effect and substitution effect with

example.

Explain profit management and inflation.

https://www.ccsustudy.com
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five questions. Each question carries 15 marks.
15%3=45
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Section-C
(Detailed Answer Questions)

Attempt any three questions out of the following

Answer is required in detail.

K. G & Co. has conducted investigation regarding
demand of a certain commodity and collected the
following data :

Year

2009

2010

2011

2012

2013

2014

Sales

(in*000%)

25

30

35

40

38

47

10.

1.

12.

18061

Forecast the sales for the year 2015 and 2016.

What do you understand by Managenal Fconomics 7

Explain the scope of Managerial Economics.

Explain cost-output relationship in short-run and

long-run cost curves.

What is monopolistic competition 7 How output

and price is determined under monopolistic

competition?

https://www.ccsustudy.com
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13. The S. K. Pvt. Ltd. has been manufacturing track
suits for athletes. Currently its output 1s around
70% of its capacity of 19,000 units per annum. One
exporter has approved the sample and has offered
to buy 5,000 units at a special price of T 150 per suit.
At present the company has been selling the track

suit o € 210, The standard cost per unit is as under -

Cloth and other matenals ¥ 82.00
Labour T 25.00
Fixed cost ¥ 42.00
Variable cost T O11.00

T I(;n.uu"

(a) Should the company accept the offer ?
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(b) What would be your advice if the exporter
affers to buy 10,000 units instcad of 5.000

units.

https://www.ccsustudy.com 18061-4-

wod Apmsnsad- mmm// sdny



